SISCER Survival Analysis


Name: ________________________
Quiz 1
For time-to-event outcomes that are subject to right censoring (circle the correct answer): 

1. What would happen in estimating a survival function based on uncensored outcomes only?

1) Under-estimated

2) Over-estimated

3) It can be consistently estimated when censoring time and failure time are independent

4) It doesn’t really matter
2. What would happen in estimating a survival function, assuming that censored outcomes would all fail at the end of a study?

1) Under-estimated

2) Over-estimated

3) It can be consistently estimated when censoring time and failure time are independent

4) It doesn’t really matter
3. Among the three methods for life-table estimation, which one would give the most conservative estimate of a survival function?

1) When all censored outcomes fail at the right-end of the interval

2) When all censored outcomes fail prior to the left end of the interval

3) When half of censored outcomes fail at the right-end of the interval and the other half fail prior to the left end of the interval

4) It doesn’t matter as long as censoring time and failure time are independent

Keys: 1, 2, 2
